4...

109 # R % INEXE Foy Fiad
3DFEPR E T A p g =

-~ iR
109 £ 19 31 p £ HEE R 5
2 g KT b g s 813D 5|
iF § RIARIHL -

% 1090000675 8.5 45 7.2 1109 £ B ¥+ 2R &
2T 4 P02 109£9% 3pF 21

« P h
()a@ﬁﬁ&&ﬁ%w&%m’ﬁﬁﬂi“%’@%w‘ﬁ@1ﬁ°
(C)Fd A pR@FEE LRV 2 MY > R FE B AATRE AR
(=) i 2 erwfg—‘ri’ sondfakop g E KT A AR #%zé DX B LU B AR G
BEAE BT RFILIE LA -

S PR
(F)AiyE o KT NRNE R D RT FO T HAERKE) -
(C)ykyHE = 29 3 247 REFER &Y FER (UTHELY 7FF e
VSN LX) I
BV CEIETE -0 SN NS N2 A £ % (180x60cm) & & = L 4] B 7+ & -
LLIREY L V- LAk kD %m;’%@%ﬁﬁ‘"r?of% ﬁr“q‘u»lo
Fﬁrh%—am%@}\z} BAdr IS EFHRFTLRE - F%3 L2 BEREEHA -
3gpﬁwﬂx+f-g*¢cwmﬁ~r PR AR
4ortid £9 REREERET FRASURBGT M R E R TR F AR
Faoo #3109 £ 117 18 p % #ﬁw%‘%iév‘ﬂ40144Mv1‘r11§f50%i e
R34 g aedom @i e B2 LN FER 1 p T = 1700 % /% fl 8 -

SRR - 3 B
()F Byl D109 # 11 2 20 p (A HT) = 105 T = 455
(BB LY RFEET (i" # A% {450 50) o
(Z)F % B2 § RAB 4ort i
(z) 7>t 109 & 11 % 13 p 'é?i;ﬁ“_ﬂ%iﬁf » BAUARRBE T ER T o
.,‘Pf—:h_ - https://reurl.cc/XkOMDD -

,fg,‘\i

el
q;
Qo
-hm: E%

(= )3 PRI R e R B2 GRS (£) B2 abinit o L5 F d RIS Fofdp
MR EIRL o

(C)R3FEE0d MKF 109 2R 3D E 2R THELMHET LR -

(E)1 7 20p 2= 9:10* 3447 630 r 7 LA RERFIRD TERFLL &
BESIRBE



e

N

B H

I EH

F 8B

il 2 22 e

fiHHE | |5

o~

R

MR-

K X -

-

X H-

B HE

R H

-z H

peatiifas

\\\\\\\\

Frr
| S

e H

H RN H

HE T -5~

B~

BRI H

T -

—r—

= | §E

HOJT-H-

X

fifE-= -5~

EIEH-

1

Mt 1




M 2

KTMRAZFaHTFFEY EERABTHRIIR

R RN
.| # ~(%%) | FabLab | FabLab | FabLab
W RE | R | R | R’k

¢ =¥ FabLab £ &
(AT Es & R)

™

A= AR EHhS o0 (104)

1 |49 2 2 - AN 2 H - L3 F s H(105)
. B ATaL S 2 ATA R s EBCEF 1(103)
2 | Arat 2 2 B 2 s %8 1(104)
‘ D PN E AP X ER(104)
L —
3| FET 2 2 PR 2 AL s £(107)
4 |37 1 1 — Bz A3 %2 £(106)
5 |25+ 1 1 T |EEAHF e EREFRA0T)
6 |u &Rk 1 1 — |Rzwdpaz uaxiﬁf*aozl)

9 24 13 s % H1(103)

‘ P 2 d Y RE P ER Y EF (104
7R 2 4 N %ée—u;igifwﬁﬁ&; !
93 2k g s £ F1(104)
8 | F;1 Bk 1 1 — Rz ﬁi%rs P 5 (106)
9 | & $Ek 1 1 — Rz sk ge? 5(105)
10 |2+H5] 1 1 —  |mz AR d smE S 1(106)
11 | &£ &5k 1 1 — A rs&? £007)
12 | &£&7 1 1 — Rz EE+3F 3 500D
. R ds 5850 £(104
13 ]ks7 | 2 2 - gi§Z$&ﬁiL§;i%ﬁUM)
o s BN ES EE 2(103
s | 2| 2 - e R TR N e
15 | B L Bk 1 1 — R B3 e §(105)
16 | A7 1 1 — AR 2 EF a7 £(106)
17 | & W5 1 1 — M RLS 51 EREF105)
18 | 7=iEks 1 1 —  |R2FES a1 £BEFR(103)
19 | & L &% 1 1 — R4 i3 357 $(106)
20 | Rh 1 1 — |z 548 ¢ (109)
21 | £ R: 1 1 — Wz &/ 357 F(106)
22 | Bk 1 1 —  |RzEPEE(109)
&3 30 30 0




M4 3

109 # BT MM 2 Fagy b5 5? TR

3D Al 2 5 T
PR REIME S F B REFRL

109# 11 % 20p (B ¥T)

P R RN 7 AFFGH) A b2k
.20~10- SRR UE T
9:30~10:00 2B O 1 R B
10:00-10:10 OR O 19 R A AL
10:10~10:20 B %5 FlAm#s e &

— R A

10:20~10:40 LPRFELE KT IR KEFLTF
10:40~16:00 R LRARTHRE

16:00~ R 4 ¢ R B




